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Y-y=(x+3)e™

Y =7y +6y=(x-2)e*
Y'=5y +6y=9sin2x
Y —4y=sin6x

Y -2y'+y=xe"sinx
Yy +4y=cos2x
y'-2y' —y=e"cosx
y'—4y=xlé3‘

¥ +9y=4sin3x
Y'+y=cosecx

Yy +y=secx

Y -2y +3y=x"+sinx

Y'+y=3cos2x+2sin3x

.yu_zya_5y1+6y=(e2x+3)2

yn_4yr+3yl=x2

Y —-9y=3-9x"+27x'

Y 4y +4y =8¢

Y —10y' +25y = x’e**

4y +8y +3y=e*(x’ +sinu;—)

y'=y'+ 3y =sinh 2x

34.
36.
38.
40.

42.
44.
46.
48.

50,
52
54,
56.
58,
60.
62.
64

66.

68.

70.

72.

V' +9y=(x"+De**

¥ =6y +10y = x’e*
Y'=35y' +6y=29cos2x
Y'+2y' +y=23cos4x
V' +2y' +5y=2cosx

Y ~y=3e"cosx

Y -y =sin2x

Y'+3y' +2y=xsin2x
Y —y=x"sin3x
V'+4y=4tan 2x

Y' =y -2y=10cosx
Y' =4y +4y =x’e” + xe”*
y'+3y' —4y =sin 2x
Y-2y"-5y+6y=e"
Y'+J5y=sinx+2sin2x
V' +6y +5y =104
V' =3y +6y=25sin4x
Y'+2y =24x

y"—3y'+2y‘=x’+3x

y ~8y" + 9y = 50sinh 2x



73.

75.

77.

79.

81.

83.

85.

87.

89.

Y1y o

Y =y +4y —4y=50(e* +cos3x)
Y —6y" -8y -3y = 256(x + e’
y¥ — y =10cos x cosh x

y' =8y +15y=30
y~-3y+2y=x’

Yy -y +5y=sin2x

y'+4y' +3y=x

Y' =10y +9y = (x-2)¢’

yn_2yr_3y=ei‘x

74. Y9~y =12¢" + 8¢ sinh x
76. Y*+4)" +4y =8

78. y" =y +3y=e”

80. y" -6y +9y =¢**

82 2y"~y —y=xe"

84. y" + 9y =sin3x

86. y"+9y = (x* + Ne**

88 y" -6y +9y=x"+2x+1

90. y"—y' +5y=sinh2x



